LRV(Light Rail Vehicle)
LRT(Light Rail Transit)

LRV

DE)

AHP(Analytic Hierarchy Process)

2
( )
)
@)
(F+Fr m) g=m a (1)
F: (kg) Fr:
(kalt) g: m:
( )® a: (mis?)
W=(1/2) m v2 1+(u /100) (v /100) kOt ...(2)
W: W) wv:
(mis) u: %) Vv
%) k ot (s)
CO:
©)
CO2 ) | kws) € /3,600 .(3)
€ : CO (kg/kWh)
(F.Fr )
CO:
2 2
LRV



2.1 ( )
( X )
1
1
6
1
P
P=(C/6) (/3600)Q (L +K) ...(4)
P: (m) C:
() @ (/7)) L
m K m
1
3
3
9.5km
21 1/8000
40m 0
(TRAM)

LRV

Transit System:
) 3

IMTS(Intelligent Multi-mode

1
1
LRV TRAM
() 100 100 100
(t) 21 30 10% 2( )
(m) 20 20 20
(km/h) 40/60 40 60
(%) 40 10 0
(km/his) 3 2.5 3.5
(km/his) 3.5 3 3.5
(%) 5 5 10
(%) 5 5 10
LRV TRAM
40km/h LRV
60km/h
IMTS 60km/h
LRV
IMTS
IMTS CNG
1
3
(5).(6)



30
25 ' : 2
0\ N T
=3 ——
15
10 \\\ \ —— IMTS
5 -_\‘
O 1 1 1 1 1 1
0 10 20 30 40 50 60 70
(km/h)
1
120
100 / A
g 50
= 50 — —a— LRV/Tran)
—a— IMTS
. //
20
O 1 1 1 1 1 1 1
0 10 20 30 40 50 60 70
(km/h)
2
RLrvTRAM=22.5+0.23v+0.005\2 ...(5)
RimTs =67.0+0.20v+0.0075v2 e (6)
R: (N/t) v (km/h)
IMTS LRV
TRAM
70 1
60 —7“:7—0—0—0—0—
£50
£ 1 —— LRV
20 —a— IMTS
—>
20
10
0 1 1 1 1 ]
0 200 400 600 800 1000
(m)
3
LRV )
IMTS
3.7V R (7
V: (km/h) R: (m)

LRV
300 450m 7
( ) 12
TRAM LRV 2
2
TRAM | LRV
(km/h) 40 60
(km/h/s) 5.0 2.5 4.7
(kmih/s) | 10.8 3.0 6.9
m | 71 14 20
() 30 30
LRV 60km/h
(
)
180
( )
( )
1 LRV
20km/h  60km/h
60km/h



1
TR

24—

0

18

12 — e
B

4

il

i

= )

o - R T
SRR 190EKeh 1260k A4
hirEhi M5 1408k A4k
mEhE LY 1 16:Mh QKb

[EEE firars ] (] 0o
COoA bR 20kg 0a%kg [00kg
TR B5km BSm B5m
4Rl 01735 BT TIRIT

FHE 2 2 0k F0%

4
60km/h
( )
LRV(40km/h)
LRV(60km/h) LRV
60km/h
12%

96%

40
25 —— (k)
20 “—co2 (g
15 — .
1g -—
0
& & €
&
5
6 LRV ( )
S-T(
FmmE b = 2500 |
: = (TR = ~EEE [ LR | 7 T3 1
L B EiTE 200 Sy e ; - —F
L s WmiEd = =WV SRS -
— B LD | o | i.\_l' /
= Pl o [ B | b 4 i BN
S —— o
gl E {000 pP— —_— —
u B i e e
I L P 5 S N S Lt : ! g
| et RY |\ EEE
il -_F“:q-_ ‘—EE I:‘_"l IT: o Ty
2 4 6 B 10 gy 16
6
40km/h
LRV  40km/h
60km/h LRV
LRV
IMTS
CO;
7 (TRAM) 180
A 6 80
: ( )
( X )
TRAM
LRV
TRAM 80
60km/h
LRV (60km/h)



1000
900
— 800
700
— 600
500
400
300
200
100

—o—LRV

TRAM

()

®)

1.2(005)x () 15 () -8

&)

CO2




4.1.

[Al=

8
Hierarchy Process)

(9)(10)
[Ad
X1
[A] x (
[A] x1 (
3.1.1.
3
[A]
1:2:1
X
9

IMTS

( )
(A
1
2
- n
AHP(Analytic
x)
)
(10)
) ...(9)
) ...(10)
3.2.1.
LRV

1

0.707 0.543 0.967 1 0.550 0.651 | IMTS

[A]= |0.8170.6390.6200.819 1 0.825 0.721 | LRV

0.817 0.707 0.582 0.756 1 0.630 0.488 ' TRAM
Xx=(0.0833,0.0833,0.0833,0.1665,0.1665,0.1665,0.25)

——
IMTS LRV TRAM
9
IMTS
LRV
AHP
1.2 )
(LRT )
)
1999.11
)

P.193-198 2000.2



